$$F(3) = \frac{F(2)}{(2\pi + 1)^{n}} \frac{f(2\pi + 1)^{n}}{(2\pi + 1)^{n}}$$

2.

3. We length =s
(a)

$$S = \int_{0}^{2\pi/4} \int \frac{(\frac{\partial n}{\partial t})^2}{(\frac{\partial n}{\partial t})^2} + (\frac{\partial n}{\partial t})^2 = \partial t$$

$$y = a(t-sint) =) \frac{\partial n}{\partial t} = a(t-cost)$$

$$y = a(1-cost) =) \frac{\partial n}{\partial t} = a(5int)$$

$$\sum_{z=\pi/4}^{2\pi/4} \int a^2(1-2\sigma st + \sigma s^2 t + sin^2 t) = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-\sigma st)^2 + a^2 c^2n^2 t} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-2\sigma st + \sigma s^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-\sigma st + \sigma s^2 t + sin^2 t + sin^2 t)} = dt$$

$$= \int_{0}^{2\pi/4} \sqrt{a^2(1-\sigma st + \sigma s^2 t + sin^2 t + sin$$

4.
$$\int (\pi^{1} + y)^{\frac{1}{2}} \frac{\partial x}{\partial x} = 2n \left(2 - -2\right)$$

$$= \frac{2n}{2} \left(2 - \frac{2}{2}\right)$$

$$= \frac{2n}{2}$$

PMT (plat) 5 (a) y= arcsing $\cos y \equiv \sqrt{1 - \sin^2 y} = \sqrt{1 - x^2}$ \therefore sing = x $\frac{1}{2} \quad co: \partial \frac{\partial u}{\partial r} = 1$ $\frac{\partial y}{\partial n} = \frac{1}{\cos(y)}$ $\frac{\partial \theta}{\partial n} = \frac{1}{\sqrt{1-\sin^2 y}} = \frac{1}{\sqrt{1-x^2}}$ x6 (mail) D (1-n2)-1/2 (b) $\frac{\partial^2 g}{\partial n^2} = \frac{\partial}{\partial n} \left(\frac{1}{\sqrt{1-n^2}} \right)^2 = -\frac{1}{2} (1-n^2)^{-\frac{3}{2}} (-2n)$ $= x(1-n^2)^{-1/2}$ Sam History $\frac{\partial^2 y}{\partial n^2} = \frac{\chi}{(1-n^2)^3}$ Contraction of the state Cost in the state of the $(1-n^2)\frac{\partial^2 \partial}{\partial n^2} = n(1-n^2)^{-3/2}(1-n^2)$ $= \gamma (1-\chi^2)^{-1/2}$ $\frac{1}{\sqrt{1-n^2}} + \frac{1}{\sqrt{1-n^2}} + \frac{1}$ $= \mathbf{z} \cdot \frac{\partial \mathbf{y}}{\partial \mathbf{z}}$ $= \left(1 - n^2\right) \frac{\partial^2 y}{\partial n^2} - n \frac{\partial y}{\partial n} = 0$ Scanned by CamScanner

$$\begin{split} S_{n}(o), & I_{n} = \int_{0}^{\pi/2} \pi^{n} \sin \pi \, \partial \pi \\ I_{n} = \int_{0}^{\pi/2} \pi^{n} \sin \pi \, \partial \pi \\ I_{n} = \int_{0}^{\pi/2} \pi^{n} \sin \pi \, \partial \pi \\ I_{n} = \int_{0}^{\pi/2} \pi^{n} \cos \pi \, \partial \pi \\ & I_{n} = \int_{0}^{\pi/2} \pi^{n} \cos \pi \, \partial \pi \\ & I_{n} = \int_{0}^{\pi/2} \pi^{n} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = 0 + = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} \cos \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} \sin \pi \int_{0}^{\pi/2} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2} \sin \pi \, \partial \pi \\ & = \pi \int_{0}^{\pi/2} \pi^{n-1} - \int_{0}^{\pi/2$$

PMT

(b) $I_3 = 3\left(\frac{\pi}{2}\right)^2 - 6 I_4$

x 1'=1 $= \frac{3}{4}\pi^2 - 6 \int \mathcal{X} \sin \pi \partial x$ $= \frac{3}{4}\pi^2 - 6\left[\left[-\chi\cos^2n\right]_0^{\pi/2} + \int_0^{\pi/2}\cos^2n\right]\right]$ $=\frac{3\pi^2}{4}-6\left(\left[\operatorname{sm}\pi\right]_0^{\pi_{12}}\right)$ $=\frac{3\pi^{2}}{\varphi}-6(1-0)$ $= \frac{3\pi^2}{4} - 6$ h w · · · · / and the film that and the second

the size find

$$\begin{aligned} f(a). & \begin{pmatrix} 1 & \chi & -1 \\ 3 & 0 & 2 \\ 1 & -1 & 0 \end{pmatrix} \\ det[A(a)] &= x=t \\ -2-x(-2) - 3 = 2n^{-5} \\ \hline \\ & \\ -2-x(-2) - 3 = 2n^{-5} \\ \hline \\ & \\ & \\ \end{pmatrix} \\ M &= \begin{pmatrix} -2 & -2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ M &= \begin{pmatrix} -2 & 2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & 2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & 2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & -2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & -2 & 3 \\ -1 & 1 & 1 - \chi \\ 12\chi & 5 & -3\chi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & -1 & 2\pi \\ 2 & 1 & -5 \\ 3 & \pi^{-1} & -3\pi \end{pmatrix} \\ C &= \begin{pmatrix} -2 & -1 & 2\pi \\ 2 & 1 & -5 \\ 3 & \pi^{-1} & -3\pi \end{pmatrix} \end{aligned}$$

PMT

$$\begin{pmatrix} 1 & 3 & -1 \\ 3 & 0 & 2 \\ 1 & 1 & 0 \end{pmatrix} \begin{pmatrix} p \\ q \\ r \end{pmatrix} = \begin{pmatrix} 2 \\ 3 \\ q \end{pmatrix}$$

$$\vdots \qquad \begin{pmatrix} p + 3qr - r \\ 3p + 2qr \\ p + qr \end{pmatrix} = \begin{pmatrix} 2 \\ 3 \\ q \end{pmatrix}$$

$$\begin{array}{l} p+3q-r=2\\ =) \ r=\ p+3q \ -2\\ \therefore \ 3p+2r=\ 3p\ +2p+6q\ -4\ =\ 5p+6q-4\\ \\ 5p+6q-4\ =3\ =) \ \ 5p+6q=7\\ \\ p+q=4\\ \end{array}$$

$$\begin{array}{l} p+5q=20\\ \\ sp+6q=7\ =)\ \ 5p+5q+q=7\\ \\ =)\ \ 20+q=7\\ \\ =)\ \ \ 9^{r}=-13\\ \\ \hline \\ p=20-5(-13)\ =85\\ \end{array}$$

$$2f = r = \frac{3-3p}{2} = -2y$$

$$f = 17$$

 $g = -13$
 $r = -24$

РМТ $\begin{array}{c} 8 \\ (\circ) \end{array} \overrightarrow{A6} = \begin{pmatrix} 1 \\ 3 \\ 0 \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 3 \\ -1 \end{pmatrix}$ $\overline{AZ} = \begin{pmatrix} 1 \\ 3 \\ 2 \end{pmatrix} - \begin{pmatrix} 2 \\ 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -1 \\ 3 \\ 1 \end{pmatrix}$ $AB \times AC = x - \frac{1}{3} \times \frac{3}{1} \times \frac{1}{3} \times \frac{3}{1} \times \frac{3}{1} \times \frac{1}{3}$ $= \begin{pmatrix} 6\\2\\0 \end{pmatrix}$ Area = $\left| \frac{1}{2} \begin{pmatrix} 6 \\ 2 \\ 0 \end{pmatrix} \right| = \left| \begin{pmatrix} 3 \\ 1 \\ 0 \end{pmatrix} \right| = \int 3^2 + 1$ = $\int 10^2$ $\int \frac{1}{1} \frac{$ (,) Area = 1/6 AD· (ABXAC) $= \frac{1}{6} \left| \begin{pmatrix} -2 \\ 4 \\ 0 \end{pmatrix} \cdot \begin{pmatrix} 6 \\ 2 \\ 0 \end{pmatrix} \right|$ $=\frac{1}{6}\left|\frac{-12+8}{5}\right| = \frac{2}{5}$ Scanned by CamScanner

$$\begin{array}{c} (c) \\ (c)$$

$$=\left(\frac{-2}{V_{10}}\right)=\frac{V_{10}}{5}$$

$$\begin{aligned} & \mathfrak{P}(\mathfrak{a}), \quad \frac{\pi^2}{\mathfrak{a}^2} - \frac{y^2}{\mathfrak{b}^2} = 1 \\ & \stackrel{?}{\longrightarrow} \frac{2}{\mathfrak{a}^2} \times - \frac{2}{\mathfrak{b}^2} \cdot y \stackrel{\mathfrak{d} y}{\mathfrak{d}} = 0 \\ & \stackrel{?}{\longrightarrow} \frac{2}{\mathfrak{a}^2} \times - \frac{2}{\mathfrak{b}^2} \cdot y \stackrel{\mathfrak{d} y}{\mathfrak{d}} = 0 \\ & \stackrel{?}{\longrightarrow} \frac{2}{\mathfrak{c}^2} \cdot \pi = \frac{2}{\mathfrak{b}^2} \cdot y \stackrel{\mathfrak{d} y}{\mathfrak{d}} \\ & \frac{1}{\mathfrak{c}^2} \cdot \pi = \frac{1}{\mathfrak{b}^2} \cdot y \stackrel{\mathfrak{d} y}{\mathfrak{d}} \\ & \frac{\mathfrak{b}^2}{\mathfrak{a}^2} \cdot \frac{\pi}{\mathfrak{d}} = \frac{\mathfrak{d} y}{\mathfrak{d}} \\ & \stackrel{?}{\mathfrak{d}} \\ \end{aligned}$$

$$\left(\frac{\partial y}{\partial n}\right)_{X=aseco} = \frac{b^2}{a^2} \cdot \frac{aseco}{btano} = \frac{b^2}{a^2} \cdot \frac{b^2}{btano} = \frac{b^2}{a^2} \cdot \frac{b^2}{aseco}$$

$$\frac{1}{10} m_{N}^{2} = \frac{1}{\frac{1}{5}} \cos \theta = \frac{1}{\frac{1}{5}} \sin \theta = \frac{1}{\frac{1}{5}} \sin \theta$$

$$y = 10 \tan \theta = -\frac{\alpha}{5} \sin \theta (n = a \sec \theta)$$

$$by - b^2 ton 0 = -asin 0 (\pi - asec0)$$

by tansmo = a² tand + 1² tand as rewired Scalamed by CamScanner

when n=0 $by = (a^2 + l^2) \tan \theta$ $=) y = \frac{\alpha^2 + b^2}{b} \tan \theta$ $\left(0, \frac{a^{2}+b^{2}}{b} \text{ ton } O\right)$ when y =0 ansing = (a^2+b^2) tand $\therefore n = \frac{(a^2+b^2)}{a}$ seco $\frac{1}{\alpha} \left(\frac{a^2 + b^2}{\alpha} \sec \theta, 0 \right)$: $M = \left(\frac{a^2 + b^2}{2a} \sec \theta, \frac{a^{1+b^2}}{2b} \tan \theta\right) = \frac{a^{2+b^2}}{2c^2} \frac{1}{c^2}$ +2+1 = 40c2 $\chi = \frac{a^2 + b^2}{2a}$ sect $\chi = \frac{a^2 + b^2}{2b}$ for Q $\sec \theta = \sqrt{\tan^2 \theta + 1} \quad 4 \quad \frac{2bY}{a^2 + b^2} = \tan \theta$

(1)

$$\chi = \frac{a^{1}+b^{2}}{2a}\sqrt{\tan^{2}0+1} = \frac{a^{2}+b^{2}}{2a}\sqrt{\frac{4b^{2}y^{2}}{(a^{2}+b^{2})^{2}}} + 1$$

$$\chi^{2} = \frac{\left(a^{2} + L^{2}\right)^{2}}{4a^{2}} \left(\frac{4L^{2}y^{2}}{\left(a^{2} + L^{2}\right)^{2}} + 1\right)$$

Scanned by CamScanner

PMT

